
Side bar series: RM - RC - BM - BC - GM - GC 

Maxus eDeliver 3

SW13 (23 Nm)
SW17 (46 Nm)

45 Min.

V1.02 - November 2021

Mounting instructions 



92-93 KIT  Maxus eDeliver 3

2

3

4

5

7

8

6

1
9

10

11

12

Parts list

1.	 4x Bolt ( M8 x 60 )
2.	 8x Washer ( M8 )
3.	 4x Flange nut ( M8 ) 
4.	 8x L-shape bracket ( 4x long / 4x short )
5.	 4x Carriage bolt ( M10 )
6.	 4x Washer ( M10 )
7.	 4x Flange nut ( M10 )
8.	 2x Frame
9.	 4x Inner plate with screw thread ( HTCOR2 )
10.	4x Bolt stainless steel ( M8 x 40 )
11.	8x Washer stainless steel ( M8 )
12.	4x Locking nut ( M8 )



Maxus eDeliver 3 Side bar mounting instructions step by step. 
 
1.	 Start with preparing the mounting frame. You need the following parts: 4, 5, 6, 7 and 8. 

Take a long L-shape bracket and lay a short L-shape bracket on top. Lay both brackets on top of the 
frame (8) and mount it with carriage bolt (5), washer (6) and flange nut (7). See fig. 1. Make sure that the 
slot is down. See detail in drawing below. 
Repeat this step for the other side of the frame and do the same for the second frame. 

2.	 Position both sidebars next to the van to find the mounting positions of the frames. See drawing below. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3.	 Start at the front and mount the frame by using part 1, 2, and 3. Do not tighten the frame yet. This gives 
you room to reposition the sidebars if needed. ( Fig. 2 + Fig. 3 )

4.	 Mount the second frame and do not tighten it as well. ( Fig. 4 + Fig. 5 )
5.	 Start to mount the side bars. Use part 9, 10, 11 and 12 for this. ( Fig. 6 + Fig. 7 + Fig. 8 ) Do not tighten 

yet! BEGIN WITH THE BOLT AT THE BOTTOM and and with the nut at the top. See Fig. 8.
6.	 When everything is in place and aligned start with tightening both frames. After the frames are tighte-

ned you can tighten the sidebars.

M
axu_001

SLOT DOWN

!±1
41

0

±1
41

0



Fig. 1 Fig. 2

Fig. 3 Fig. 4

Fig. 5 Fig. 6

Fig. 7 Fig. 8

3	




